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Hig A3k [1764
JIIE 452 K4 FEHIFZI—X ouT IN GROSS
1T Tk ASE WFE & EH 30 37 67
1T B AR 2o EILE 34 33 67
3T JEO #HEA FEEARY-N 33 37 70
3T ZFIL —& 2 ELE 36 34 70
5T TN\ FISNL WFE & EH 33 38 71
5T BA _H WFE & EH 35 36 71
5T 1B h= FEEARY-N 35 36 71
5T Hih [ *iﬁ WFEHEE 35 36 71
5T IO & FEEARY-N 34 37 71
10T = H inJ WFE & EH 35 37 72
10T RO BEEE T 37 35 72
10T =D 2o ELE 35 37 72
10T hfE EX T 36 36 72
10T EETN FEEARY-N 36 36 72
15T F F05h WF 34 39 73
15T BN E2 N 37 36 73
15T 5H Bl FRDFx 37 36 73
15T FHAER @A T 35 38 73
15T gk ML EIF 36 37 73
15T TAA ¥X N2 35 38 73
15T BHE Ok FEEARY-N 35 38 73
15T WA {EE WFZR & 37 36 73
15T 2l pEsE WFEHEH 37 36 73
24T AR B4 FEDFHF 37 37 74
24T Hft FEE IMAGC 35 39 74
24T 211 FKEB FEDFHE 35 39 74
24T PN WF& E# 36 38 74
24T FiE XE WF& E# 36 38 74
24T FE TTE T 36 38 74
24T Hf BE T 38 36 74
24T 2¥ 1*E WFEHEH 38 36 74
32T AR REA 175U B 37 38 75
32T BE = WFEGLEE 36 39 75
32T RO ZERR WFE & EE 39 36 75
32T 04E AE WFE & EE 39 36 75
32T iE FA =B WIFEFH 37 38 75
32T HFLE SiE WF Zx 44 37 38 75
32T o M= N 38 37 75
32T x5 58 TV 40 35 75
32T REF BA WFEHEE 39 36 75
321 FIX = WFZR & 39 36 75
32T EH#H FEE WF R # 37 38 75
32T RO ®EF IMAGC 37 38 75
44T RATEESN FEDFHF 36 40 76
44T il K& T 36 40 76
44T AR Hit =B IFEFH 40 36 76
44T =R ER WFE & EE 38 38 76
44T I T 35 41 76
44T b SR WFE & EE 40 36 76
44T Ba MFE N 36 40 76
44T HIE NG =BT NIEH 38 38 76
44T MR HE WFEEEE 38 38 76
44T i feE—ER FEEAY-F 38 38 76
44T Xt 158 WFEEEE 39 37 76
44T KL BE FEEAY-F 38 38 76
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44T RlR E— FEDFH 39 37 76
57T BT BER WFEHEE 39 38 77
57T BE NEAER WF& & 36 41 77
57T WA kK= T 40 37 77
57T BH FEDFH 36 41 77
57T FE BB WFEEEE 38 39 77
57T LS T 41 36 77
57T P NITIRED: WFEEEE 41 36 77
57T ME FEDFH 38 39 77
57T IMEIES:-FS T 40 37 77
57T ¥iE R At EILE 38 39 77
57T HiE &Rz WFE & EE 37 40 77
57T il BX INEZ 37 40 77
57T HRTI Bz WFEEEH 35 42 77
57T B% & FEBE ARV - 39 38 77
57T hig & INEZ 38 39 77
57T #H RE FEDFHE 39 38 77
57T BN EH| =B 7EH 40 37 77
74T #BR EBX WFEHEE 36 42 78
74T EIIE TS WFEHEE 37 41 78
74T =2 BT FEDFHE 39 39 78
74T FR &t BHELE 36 42 78
74T iy 33| WFE & EH 34 44 78
74T Hp —E FEDFH 39 39 78
74T N BHELE 38 40 78
74T W BT hEEAY-F 39 39 78
74T B EIE hEEAY-F 39 39 78
74T B £X IMNAGC 38 40 78
74T YT HE3E ENLF 41 37 78
85T 5B & TV 42 37 79
85T iE BE C =N 37 42 79
85T TN EHIF 36 43 79
85T BzE % WFEHEE 36 43 79
85T Bl % WFEE E&E 43 36 79
85T wEe 2L T 40 39 79
85T N WFEHEE 36 43 79
85T ETIE:3E3 WFEHEE 37 42 79
85T =H EE IR 40 39 79
85T WK &z C =N 35 44 79
85T EB BE WFEEEH 38 41 79
85T i ER T 38 41 79
85T EHE Bt WFEHEE 40 39 79
85T A Xt WFE & & 37 42 79
85T EX —E WFE & & 41 38 79
85T B =— WFF 40 39 79
101T WH B WFEHEE 42 38 80
101T fafp IE= T 41 39 80
101T £ FE WFZR 4k 36 44 80
101T HO =it C =N 41 39 80
101T ST YN WFE & EH 41 39 80
101T N & FEDFHF 38 42 80
101T TH A WFH & EE 42 38 80
101T WA EF WFEHEE 40 40 80
101T B =& WFE S E#E 45 35 80
101T oH EX WFEE E&E 41 39 80
101T o = W75 B 39 41 80
101T FE R 2o EILHE 42 38 80
101T Rt T 42 38 80
101T = IEE WFEEEE 37 43 80
101T N WFEEEE 38 42 80
116T Kig B WFE & E& 41 40 81
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116T fnikE $hi Ao ELTE 40 41 81
116T Al &5 WF Zx 44 47 34 81
116T n EZ&E WFEEEE 37 44 81
116T ¥_IERD Ao ELTE 35 46 81
116T =T IMRGC 39 42 81
116T HE #1E WFEEEE 38 43 81
116T hft B5x TV 39 42 81
124T X0 EF WFEHEE 40 42 82
124T AKX BX WFE L EE 43 39 82
124T fE SR HEREILE 40 42 82
124T KB Kk WFE & EE 43 39 82
124T ¥R 2B 2o ELE 42 40 82
124T E B WFFx#k 41 41 82
124T A BT 2o ELE 45 37 82
124T Fus B T 43 39 82
124T B EE WF Zx 44 39 43 82
124T =H #H— TV 43 39 82
124T iz - HEREILE 38 44 82
124T BN Bz FEDFHE 43 39 82
124T 5HF UERK FEDFH 41 41 82
137T A IE FEDFH 40 43 83
137T ER 5 WFFR 44 40 43 83
137T B% #£2 LEELWE 41 42 83
137T =Yk EBER B ELE 43 40 83
137T Hep BF WFEEEH 40 43 83
137T $kEF JEER T 43 40 83
143T #]K Fes WFFR 44k 39 45 84
143T B Ko WFFEH 42 42 84
143T #0O %FAH| TV 46 38 84
143T HiR L,u C =N 46 38 84
143T Bk _E— WFE & EE 42 42 84
143T HLE B FEDFH 44 40 84
143T ENTIE:Y 7 FEDFHF 41 43 84
143T #i.ﬁi &2 BILE 42 42 84
151T "nE B C =N 45 40 85
151T =i $,n WFE & EH 42 43 85
151T PRAE JEth C =N 46 39 85
151T AR (81T T 40 45 85
151T %5 #2 WFZR 4% 37 48 85
151T ik B WFEEEH 39 46 85
157T TtE —& IMRGC 42 44 86
157T WEF H—HR WFE & & 42 44 86
157T ] {4t WFEHEE 45 41 86
157T ®iE Ft WFE & & 47 39 86
157T B =X 2o ELE 46 40 86
162T AR KIE =B 75 46 42 88
162T BH IE C =N 48 40 88
162T AR #1T C =N 46 42 88
162T ZEH #R N 47 41 88
162T XE Fh =BT \IEH 41 47 88
162T SH AXER T 49 39 88
168T Ak S WFEHEE 45 44 89
168T =E Ft WFF 42 47 89
170T BHE A2 WFEE E&E 48 42 90
170T b EX WFEHEE 48 42 90
172 AR ZE Ty 45 46 91
173T TRt INEZ 48 47 95
173T K+ FEAER WF A 46 49 95
ZiE hi EF EHXF - - -
ZIE RS WFEHEE - - -
Ri5 AR m= 2t EILE - - -
Ri5 I B FEEARY-N — - -
Ri5 FH HAE T — - -
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